Directions (Q.11-15): Study the following arrangement carefully and answer the questions given below 416584751329252912536828731624549 

11. How many 2s are there in the above arrangement, each of which is immediately preceded by a digit which has a numerical value of less than two? 

1) None 

2) One 

3) Two

4) Three     

5) More than three

Ans: (2)

12. How many such 4s are there in the above arrangement, each of which is immediately followed by a perfect square? (1 is also a perfect square.) 

1) None     

2) One     

3) Two 

4) Three 

5) More than three 

Ans: (3)

13. If all the even digits are deleted from the above arrangement, which of the following will be eighth from the right end of the arrangement? 

1) 5     

2) 3     

3) 1     

4) 9     

5) 7 

Ans: (3)

14. Which of the following is sixth to the left of the eighteenth digit from the left end of the above arrangement? 

1) 9     

2) 8     

3) 2     

4) 6     

5) None of these 

Ans: (1)

15. How many such 5s are there in the above arrangement each of which is immediately preceded by an odd digit and also immediately followed by an odd digit? 

1) None     

2) One     

3) Two 

4) Three     

5) More than three 

Ans: (2)

Directions (Q. 16-20): In each question below is given a group of letters followed by five combinations of number/ symbol codes numbered 1),2),3),4) and 5). You have to find out which of the combinations group of letters based on the following coding system and the conditions that follow and mark the number of that combination as your answer. 

Letters                             : WRPAEQKFHMCIUBT' 

Number/Symbol Code           : 9 4 2 # 5 *@ 7 3 © ß $ % 8 6 

Conditions: 

(i) If the second and the fifth elements are consonants, both are to be coded as the code for the fifth element. 

(ii) If the third element is a consonant and the fourth a vowel, the fourth element is to be coded as '='. 

(iii) If the first and the last elements are consonants the codes for both are to be interchanged.

16. QIMRAH 

1) 3$#©4* 

2) 3$©4#* 

3) *$©4#3

4) 3$©4#3 

5) *©$#43

Ans: (2)

17. BEIFWU 

1) 85$79% 

2) 859$7% 

3) 857$9% 

4) 85=79% 

5) %5$798

Ans: (1)

18. UBTAIP 

1) %86#$2 

2) %68=$2 

3) %8=#$2

4) %8#6$2 

5) %86=$2

Ans: (5)

19. HAIQRF 

1) 3#$*47 

2) 7#4$*3 

3) 3#=*47 

4)7#$*47  

5) 7#$*43

Ans: (5)

20. AMUKCE 

1) #©%@ß5     

2) #©%@©5 

3) #ß%@ß5    

4) #ß%@©5     

5) #%ß@ß5 

Ans: (3)

Directions (Q. 21-25) Each of the questions given below is based on the given diagram. You have to take the given diagram to be true even if it seems to be at variance with commonly known facts and then decide which of the five alternatives following each question logically follows from the given diagram. The diagram comprises three circles showing people from three different countries who have travelled to either, both or none of the countries mentioned in the diagram.
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Ans: (5)
Test II: Quantitative Aptitude
Direction (Q. 51-75): What will come in place of question mark (?) in the following equations?

51. 69.69 – 51.54 + 73.65 =? + 32.42

1) 47.44

2) 53.88

3) 58.38

4) 44.74

5) None of these

Ans: (5)

52. 54 × 15 ÷ 6 – 64 =? – 119

1) 180

2) 170

3) 190

4) 200

5) None of these

Ans: (3)
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1) 160

2) 120

3) 140

4) 110

5) None of these

Ans: (2)

55. 7878 – 4545 + 5454 =? + 4444

1) 4334

2) 3434

3) 4242

4) 4343

5) None of these

Ans: (4)

56. (4)4 ÷ (16)3 × 256 = 4(? – 6)

1) 3

2) 6

3) 9

4) 5

5) None of these

Ans: (5)

57. (32.4 × 8 × 5 + 4) ÷ 26 + 14 = (?)2

1) 8

2) √8

3) (64)2

4) -√8

5) 64

Ans: (1)

58. 36% of 650 – 14% of 560 =?

1) 147.6

2) 154.7

3) 149.7

4) 155.6

5) None of these

Ans: (4)

59. (23 – 135) ÷ 4 =? ÷ (-6)

1) 7

2) 168

3) -168

4) -7

5) None of these

Ans: (2)
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1) 72

2) 82

3) 91

4) 71

5) None of these

Ans: (5)
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1) 68

2) 76

3) 66

4) 88

5) None of these

Ans: (4)

62. (23 × 8) – (13 × 5) + 67 =? × 6

1) 21

2) 34

3) 41

4) 33

5) None of these

Ans: (5)

63. ?% of 650 + 844 = 1000

1) 54

2) 24

3) 34

4) 14

5) None of these

Ans: (2)

64. (15)2 – (5)3 + √625 + 44 = (?)2

1) √17

2) 17

3) √13

4) 13

5) √269

Ans: (4)

65. (3 × 3)2 × (9 × 3)3 ÷ 243 = 3?

1) 5

2) 4

3) 8

4) 9

5) None of these

Ans: (3)

66. 86% of ? – 492 = 583

1) 1250 

2) 1150

3) 1450

4) 1350

5) None of these

Ans: (5)

67. 27 × 5 + 167 – 32 =? – 113

1) 348

2) 382

3) 383

4) 358

5) None of these

Ans: (3)
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Ans: (1)

69. 0.6 × 2.5 ÷ 0.6 × 18 =?

1) 52

2) 55

3) 42

4) 45

5) None of these

Ans: (4)
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1) 1

2) 3

3) 5

4) 7

5) None of these

Ans: (5)

71. 85 × 12 ÷ 5 – (2)3 = (?)2

1) 196

2) 24

3) 2√14

4) - 14

5) - √14

Ans: (4)

72. 986 – 432 + 116 =? + (13)2

1) 501

2) 421

3) 521

4) 407

5) None of these

Ans: (1)

73. √52 × 27 ÷ 6 + 26 - 4 =?

1) √24

2) (16)2

3) 24

4) √16

5) None of these

Ans: (5)

74. 31.753 – 29.469 + 45.193 =?

1) 36.272

2) 47.477

3) 46.257

4) 38.474

5) None of these

Ans: (2)

75. 561.54 – 45.73 =? – 86.88

1) 665.79

2) 645.79

3) 602.69

4) 617.69

5) None of these

Ans: (3)

76. The simple interest accrued in four years on a principal of Rs 20,000 is one – tenth of the principal. What is the rate of simple interest pcpa?

1) 4

2) 5

3) 6

4) 2

5) None of these

Ans: (5)

77. What value will be obtained if the square of 25 is subtracted from the square of 31?

1) 267

2) 366

3) 278

4) 336

5) None of these

Ans: (4)

78. The side of a square is equal to the diameter of a circle. The area of the square is 441 sq cm. What is the area of the circle?

1) 112sqcm

2) 356.8sqcm

3) 346.5sqcm

4) 132sqcm

5) None of these

Ans: (3)
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1) 27

2) (36)2

3) 6

4) 36

5) √6

Ans: (3)
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Ans: (2)

81. What is sixty per cent of five – sixteenths of a number if the number is equal to the sum of 192 and square of 12?

1) 78

2) 45

3) 63

4) 54

5) None of these

Ans: (3)

82. Sun it a scored 56 marks in Hindi, 42 marks in Science, 63 marks in Maths, 94 marks in Social Science and 61 marks in English. The maximum marks of each subject is 110 . How much approximate percentage of marks did she get? 

1) 68     

2) 51     

3) 57     

4) 62     

5) 48 

Ans: (3)

83. The ratio of the present ages of Madan and Kamal is 8:5. After eight years, Madan's age will be 40 years. What was Kamal's age 6 years ago? 

1) 14 years     

2) 16 years 

3) 12 years    

4) 20 years     

5) None of these 

Ans: (1)

84. The body weight of six men is recorded as 67 kg, 89 kg, 98 kg, 83 kg, 52 kg and 79 kg. What is the average body weight of all the six men? 

1) 86kg     

2) 72 kg     

3) 82 kg     

4) 78 kg     

5) None of these 

Ans: (4)

85. Six boys can complete a piece of work in 42 hours. In how many hours will 14 boys complete the same piece of work?

1) 18     

2) 16     

3) 12     

4) 14     

5) None of these 

Ans: (1)

86. The area of a square is one-fourth the area of a rectangle. The area of the rectangle is 1600 sq cm and the length of the rectangle is 80 cm. What is the difference between the side of the square arid the breadth of the rectangle?

1) 10cm       

2) 20 cm 

3) 40 cm  

4) 30cm     

5) None of these

Ans: (5)

87. Parnita purchased an item for Rs 8200 and sold it at a gain of 35%. From that amount she purchased another item and sold it at a loss of 20%. What is her overall gain/ loss? 

1) Gain of Rs 565 

2) Gain of Rs 666 

3) Loss of Rs 666 

4) Neither gain nor loss 

5) None of these 

Ans: (5)

88. Sumit's monthly income is two-sevenths of Amit's monthly income. Amit's annual income is Rs 4.2lakh. What is Sumit's annual income? 

1) Rs 1.2 lakh     

2) Rs 1.0 lakh 

4) Rs 1.4 lakh     

5) None of these 

Ans: (1)

89. The average speed of a train is [image: image29.jpg]


 times the average speed of a tractor. The tractor covers 495 km in 15 hours. How much distance will the train cover in 7 hours? 

1) 670km     

2) 770 km     

3) 660km 

4) 760 km     

5) None of these 

Ans: (2)

90. How many bags are required for filling 1521 kg of rice if each bag is filled with 117 kg of rice? 

1) 23     

2) 33     

3) 13     

4) 19     

5) None of these 

Ans: (3)

91. Manisha runs 435 m everyday. In how many days will she cover 5.22 km? 

1) 12     

2) 18     

3) 9     

4) 24     

5) None of these 

Ans: (1)

92. The sum of five consecutive even numbers is equal to 180. What is the product of the largest and the smallest numbers? 

1) 1236 

2) 1226 

3) 1232

4) 1212     

5) None of these 

Ans: (5)

Directions (Q. 93-95): What will come in place of question mark (?) in the following number series? 

93. 19     188     309     390     439     (?) 

1) 492         

2) 462         

3) 464     

4) 454     

5) 494 

Ans: (3)

94. 640     384     256     192     160     (?) 

1) 142 

2) 146 

3) 154 

4) 134 

5) None of these 

Ans: (5)

95. 13     19     26     34     43     (?) 

1) 52     

2) 54         

3) 51     

4) 53     

5) None of these 

Ans: (4)

Direction (Q. 96-100): In each of these questions an equation is given with a question mark (?) in place of a correct symbol. Based on the values on the right hand side and the left hand side of the question mark, you have to decide which of the following symbols will come in place of the question mark.

Give answer                      If in place of question mark (?) the following will come

1)                                       > (greater than)

2)                                       = (equal to)

3)                                       < (less than)

4)                                       > (either greater than or equal to)

5)                                       < (either smaller than or equal to)                             

96. [(58 × 6) ÷ 29] ? [√324 – (2)2]

Ans: (3)

97. [(√256 – √49)] ? [- √81]

Ans: (1)

98. [143 – (56 – 42)] ? [(11)2 + √64]

Ans: (2)

99. [(42 ÷ 6) + (54 ÷ 9)] ? + [(162 – 71) ÷ 7]

Ans: (4)

100. [58 – 42 × 3] ? [52 × 8 – (38 × 5)]

Ans: (2)
